# Tiftarea Academy Booster Club Membership Options & Sponsorship Opportunities

# Panther Level ~ \$5000 Membership

- 4 Individual passes valid for all home sporting events (except playoff)
- Two 4' x 4' banners to be placed in area of choice (softball outfield fence or choice of (1-football end zone fence or 2-gym)

Advertisement on the Football Video Board during Football, Soccer, and Track

- Outfield banner for Baseball Field (4' x 4')
- Reserved parking location at all home sporting events
- Recognition of support in the gym
- Full page ad in Fall Sports Program (deadline is July 26)
- Listing on Membership page in Fall Sports Program
- Voting Rights / Perk / Yard Sign / Decal

# Diamond Level ~ \$2000 Membership

- 4 Individual passes valid for all home sporting events (except playoff)
- Two 4' x 4' banners to be placed in area of choice (softball outfield fence or choice of (1-football end zone fence or 2-gym)
- Advertisement on the Football Video Board during Football, Soccer, and Track
- Outfield banner for Baseball Field (4' x 4')
- Recognition of support in the gym
- Full page ad in Fall Sports Program (deadline is July 26)
- Listing on Membership page in Fall Sports Program
- Voting Rights / Perk / Yard Sign / Decal

## <u>Platinum Level ~ \$1000 Membership</u>

- 2 Individual passes for all home sporting events (except playoff)
- Two 4' x 4' banners to be placed in area of choice (softball outfield fence, choice of 1-football end zone fence or 2- gym)
- ½ page ad in Fall Sports Program (can include photo; deadline is July 26)
- Listing on membership page in Fall Sports Program
- Voting Rights / Perk / Yard Sign / Decal

## Golden Level ~ \$500 Membership

- One 4' x 4' banner to be placed in area of choice (softball outfield fence, football end zone fence or gym)
- ¼ page ad in Fall Sports Program (cannot include photo; deadline is July 26)
- Listing on membership page in Fall Sports Program
- Option to purchase individual passes at \$50 per pass
- Voting Rights / Perk / Yard Sign / Decal

## Bronze Level ~ \$300 Membership

- Listing on membership page in Fall Sports Program
- Voting Rights / Yard Sign / Decal

#### PANTHER AND DIAMOND MEMBERS ONLY:

Additional Sponsorship Locations Available for Purchase by **Panther/Diamond** Members – Contact a BC Club Officer for prices. (First come, First Serve)

Softball Area – option for **Panther/Diamond** member only

- 3' x 5' sign beside upstairs door
- 2' x 3' sign beside Concession door
- 4' x 8' sign above Concession window

Baseball Area – option for **Panther/Diamond** member only

- 2' x 2' signs beside Concession windows (3)
- Between doors on Restroom Building
- Foul Poles (2) \$500 each
- 29" x 5' sign (4) or 29" x 20' sign under scoreboard (1) \$2000

#### Football Area -

- Large sign to right of Concession door \$5000
- 3'x5' sign between Restroom doors option for **Panther/Diamond** member only

#### Gym Scoreboard Area –

 Small squares around scoreboard-option for Panther/Diamond member only \$500/square

Approximate Cost per Player for Every Sport				
Sport	Cost Per Player	Estimated # of Players	Total	

Baseball	\$179	35	\$ 6,280
Basketball	\$292	60	\$17,498
Cheerleading	\$267	45	\$12,000
Cross Country	\$163	20	\$3,260
Football	\$617	60	\$37,000
Golf	\$308	13	\$4,000
Shotgun	\$750	15	\$11,254
Soccer	\$53	50	\$2,663
Softball	\$261	30	\$7,820
Swimming	\$338	24	\$8,100
Tennis	\$293	15	\$4,400
Track	\$63	20	\$1,250
Wrestling	\$185	10	\$1,850

# That's a total of \$117,375.00

The Booster Club needs your help and support through membership, season passes, concessions, the TA Spirit Store, discount cards and raffles. We can't do it without you!

# TA Booster Club 2021 – 2022 Membership Form

Please fill out ALL the information below and submit along with payment by July 26th

. Forms of payment acc	cepted include ca	ash, check or	r credit card.			
Enclosed is \$	for the		Booster Membership.			
			4 and Platinum members receive 2 members for \$50 each.			
Number of Passes Purch	x \$50 =					
Total for Membership D	ues and Passes F	urchased =				
Installment Option: Dat	te	Amount				
Da	te	Amoi	ınt			
Parent Name, Grandpar	ent Name or Bus	siness to be 1	isted (circle one):			
TA Student Name(s), Gr	ade(s), Sport(s):					
Contact Person:	ct Person: Phone Number:					
Address:						
Credit Card Info:						
Exp Date	CVV # on ba	ack	Zip Code			
Or Cash or Check #	Rec'	d by BC	on			

- ❖ Please remember to submit a photo for the Ad that will be placed in the Sports Program. Sports photos will be made at school on July 26th. This form must be turned in by July 26th
- ❖ . We will add the school photo to the information submitted to printer.
- ❖ If you are purchasing a Panther/Diamond Panther Membership, please remember that we need the graphic for the video board emailed to us in JPEG format or on a disk.

- ❖ Email to Tracy Malone ~ sadieblue777@gmail.com.
- ❖ If you are purchasing a Panther, Diamond, Platinum or Golden membership, please complete the attached Fall Sports Program form also.

# TA 2021~2022 FALL SPORTS PROGRAM

I would like to purchase the following advertise	ement:						
1/4 PAGE AD \$50.00 or Golden Membership (Cannot include photo)							
	½ PAGE AD \$90.00 or Platinum Membership						
FULL PAGE BUSINESS AD \$125.00 c	FULL PAGE BUSINESS AD \$125.00 or Panther/Diamond Membership						
FULL PAGE SENIOR AD \$125.00 – Se	FULL PAGE SENIOR AD \$125.00 – Senior Name						
Business or Name on Advertisement:							
Contact Person:							
Mailing Address:							
Phone:							
Email:							
Brief description of ad (feel free to draw your AD layou	ut):						

<sup>\*</sup>Please indicate whether you will be emailing/sending a disk with your logo/photo or will be having photo made on July 26<sup>th</sup>

# FINAL DEADLINE FOR ALL AD SUBMISSIONS IS July 26th.

## NO EXCEPTIONS WILL BE MADE.

❖ Please email photos to Tracy Malone ~ <u>sadieblue777@gmail.com</u>.

All photos must be in JPEG format. You may also send them on a photo CD or USB Drive. Payments can be made to the Booster Club by turning them into the front office in a sealed envelope labeled Tiftarea Booster Club or you can Venmo @TiftareaBooster-Club by July 26th.